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:-E—_A..A —large, B—S|mple sugars, C—amino
acids

= B. A—small, B—simple sugars, C—amino
aclds
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= C. A—large, B—amino acids, C—simple

= Answer: C
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http://www.youtube.com/watch?v=FSxvyzMFofw
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= A They are both wastes resulti
- protein synthesis.
= B. They are both building blocks of starch.

= C. They are both needed for. the synthesis
of larger molecules.

@‘.’ They are both storedﬁ;at moleculesi.
i

=  Answer: C
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http://www.youtube.com/watch?v=s16Tjfrw114

I What substance could be represented by the

letter X in the tlizigrzun helow?

Formic acid (ant bite venom) Acetic acid (vinegar)
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Organic Compounds

DIGICDIS,

(1) carbohydrates (3) carbon dioxide
(2) ozone (4) water

Butyric acid

Answer. Carbohydrates






http://www.youtube.com/watch?v=s16Tjfrw114

sh, frogs, and plankton are some
orgamsms found lin a pond Whlch

ney live only in water.
ney make their own food.

= Answer: C


http://www.saawinternational.org/fish.jpg
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http://www.youtube.com/watch?v=juxLuo-sH6M
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freezmg winters in thelr habitat. Which
Jescribes a property of water that
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= A, Water sticks to things It cannot dissolve.

= B. Water Is able to exist in three states,.of matter
at room temperature.

= C. Water is able to disselve a large variety of

mmlcals’because it is a po Je&ul_

) large amounts of energy.
Wlthout S|gn|f|cant changes INn temperature.

=  Answer:. D
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http://www.youtube.com/watch?v=Wnx9thXySGw

carbon backbone in common. Whlch
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= A, Carbon has four electrons In Its outer
shell.

= B. Carbon is the most abundant element in
nature.

Carbon forms covalent bonds with other..
- -ﬂ*

can exist In a solid state at

room temperature.

= Answer:. A






http://www.youtube.com/watch?v=H7W3cY4kKmk

= A reduction
= B. hydrolysis
= __C..respiration

e
= D. dehydration:
R

=  Answer:. D
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http://www.youtube.com/watch?v=FSxvyzMFofw

